Simplifying Expressions (J)

Simplify each expression.

. —142+a*—3a+ac 6. —x+b—b*—1+1
3x+1+bx—bx+1 7.y—|—4—y—|—4yz—}—6y2
C6vz— vz 20 4y 8. 6% —6ur+14u*+4u
=14+ —v4z+2 9. 2bv+ 4> +6 —2v+ by
. —1+1—-6y+2yz+4z 10. 1 —v—6x+v+1
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Simplifying Expressions (J) Answers

—142+d*>—3a+ac
—a’+ac—3a+1

3x+1+bx—bx+1
=3x+2

C6vz—Z v+ 2+
—Tvz—22 4+ 2V +v

14+ —vtz+2
=z —v+z+1

. —14+1—-6y+2yz+47
=2yz—6y+4z

Simplify each expression.

6. —x+b—b*—1+1
= b —x+b

7. y+4 —y+4y* + 6y
=10y* +4

8. 60 —6u*+14+u*+4u
= 6a’ —5u” +4u+1

9. 2bv+ 4> +6 —2v+ by
=3bv+41° —2v 46

10. 1 —v—6x+v+1
= —06x+2
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